Part I: Written [51 pts] S Solvtion R

Q1. (a) Find the point at which the given lines intersect: [5pts]

Li: z=t y=2—t, 2=-2+4+2t
Ly: z=3—-s,y=-1+4+s, 2=-2-+3s
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(b) Find an equation of the plane that contains the lines L; and L,. [7pts]
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Q2. Find and sketch the domain of the function f(z,y) = o (i 7 [5pts]
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Q3. Find the linear approximation L(z,y) of the function f(z,y) = z?y++/22? + y? at

the point (1,0) and use it to approximate the value of £(0.98,0.03). [10pts]
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MEIER Solutiovn  wmwemm
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Q4. (a) Letz =tan (y2>.F1nd 8m+8y at the point (z,y) = (-1, -1). [5pts]
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(b) Let F(z,y) = zcos(y) +sin(zy). Find Fy.(1,7/2).

[6pts)
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E((x;‘ﬂ = Cos Y + Ycos xy O]
E(D(x,tj): S Y 4 CoS XY ~xXY SmxY @
2
Foo(xy) = —Y9Smxy —YSmxy — XY Cosxy
" ®
= — 29 Sinxy — XY Cos xy
L - 1T
Ej)(() /z) @



Exam I Math 201 (T-112) s SO LUtl‘OV'l L ]

Q5. Find the absolute maximum and minimum values of f(x,y) = e**¥ on the closed
triangular region with vertices (0, —1), (0,2) and (1, —1).
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